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Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / ¥ fRigid A agRare &1 fq 3@l

1. Functionalism / YBTIdTE (GraRIAfesH)

2. Gestalt / I
3. Connectionism / GAISATG @ﬁ%ﬁ@)
4. Structuralism / ﬂ'zaﬂlala

Correct Answer :-

« Connectionism / GAISdIG (P IfdgH)

2) vygotsky’s work serves as foundation for researchers in / 'q'rs'lﬁ"&ﬁﬂ )

& # werpatel & fore <fia &1 $1 HRar gl
1. cognitive development / AT fADHTY

2. pedagogical skills / RI&TOIH B

3. emotional intelligence / HTTATHD Flx

4. reflective practices / léiaFlQiIEl 31’121@

Correct Answer :-

. cognitive development / GRITHTH® [T

3) Which of the following is the most appropriate approach for conceptual learning?/

fFrafafad & & doie Siftrm F e 9 Sugad RS T 82
1. Deep learning approach / e &rfilTIﬂ E’@W
2. Surface learning approach / ¥ 3Ty %’I@W



3. Strategic learning approach/ IrARS AT %’I@W
4. Memory based learning approach/ gﬂﬁf ST 3ffERTH E@ﬁm

Correct Answer :-

« Deep learning approach / 1Tg - 3fENTH ?z’@?ﬁUT

4) On what is based the need for teaching philosophy of education? lﬁT&‘IT %

fRrerur gxFRIT @1 Smaza® T fa W nuTid g2
1. All pupils are not alike /Hlﬁ @T&IW a@ qé)fa?fl

2. Different systems of education found in different countries / 3{CI3-3{ I é’-‘zﬁ T 3{eT-
[T fRr&gor Yooy <= Srdh § 1

3. Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬂ

SRR = TR1&1T & B UGG TR S1eHT-3{el VD 0] o fhT|
4. Different ways of teaching-learning /&TW-W & faftqa _F |

Correct Answer :-

» Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ

GRRIR! = TR18MT & 8% IS TR SITHT-3{eNT TP 01 o [hT|

5) OCD does not affect which of the following cognitive constructions?/
St Frrafefaa dsmres fFafon & & fad ywifaa a8 srar 32
1. Believes about inflated responsibility/ JfaRad STRaId & ufd fayr
2. Underestimation of personal ability/ G &HAT B HH i1

3. Intolerance of uncertainty / AT ot W‘%ﬁfﬂ?ﬂ

4, Control of thoughts/ foaRT o= fadzor

Correct Answer :-

« Control of thoughts/ EEINCRIREELYI

6) Emotional development is part of ./ HIGATH S fapTg Caj %T\‘:IT %I

1. Motor development / ERIRET (H\ICQ) EEQRY

2. Cognitive development / TS [dH™

3. Psychosocial development / AT [aHT



4. Sensory development / §adl (HER) fabra

Correct Answer :-

. Psychosocial development / HITHIIST fdhT

7) A child has been bullied in the bus every day on the way to school. Now, when he hears
the sound of any bus approaching, he begins to panic. What principle of learning explains
this behaviour? / U T= &I TP SITd §U B el o1 fovar <t g1 34, oI +ff a8 faedt
I & URT 31 B AT AT 3, ) 98 TGRM a1t 3 | AR &1 A 31 Ry 39
FAER BT TS BT 32

1. Reinforcement / H:W.T“FT

2. Punishment / G8
3. Stimulus generalisation / m BT
4. Stimulus discrimination / 3&19% favdiau

Correct Answer :-

« Stimulus generalisation / I& 9P ATHTIIHT

8) A child is motivated to jump from the first floor window to the ground because it gives
her a thrill. What motivation theory best describes this kind of motivation? / ¥ dl tl?ﬁ
Hftra o} fas®! ¥ o9 R B F fore 9Ra giar 8, Faife g 39 A= Sar 31 frw
TPR P IR Rigid 30 PR P U0 T A 331 90 HId 82

1. Arousal theory/?ﬁﬁq:f Rygid (3RSl "’Znﬁ)
2. Incentive theory / Uiere Rigid

3. Drive theory / Igd Rrgia

4, Instinct theory / Qﬁf Rygid

Correct Answer :-

» Arousal theory/EﬁEOFCFl Rigid (SRI3Ic aﬂ?"l)

9) Which of the following sentence is TRUE in the context of guidance and counselling in

school?/ FFrEfAIfEd & A &9 O1 919, TP @ & ANTERI iR WA=l & He # 98l 32

1. Talking about my problems, in counselling or otherwise, isn’t going to help. / HISTIT AT 3

B 08 gare & IR & §1d B A Wt P Hee e e ) 2

2. Counselling takes only one sitting to be effective. / QRTHIGTd U“—I’Iﬁ%ﬁﬁ% o a1 Hl
6@ () FRAT



3. Helps in working through personal problems that may affect academics or relationships. /

oul?dllg qOT3T & ATEHH ¥ HTH B4 H A Hal g ol fRrenfag) ar Redl & yvifad &1
ghdl el

4, Students get counselling only because there is a counselor in school. / B Pl had ERIGIY
TRTAR] e & Hifeh farrmera o wRi=ierar 3|

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. /

Oqlrch‘gl JHETSH & HILTH ¥ BTH B3 § A Bl g off Renfaet a1 Real & gHIiad &R
ghdl el

10) Which of the following provides excellent resources to explore? /Fafafeada s an

TdT T (TR R $3) & I IpT GH18- UeT HedT 82
1. LCD projector / Tate! Ulolaex

2. Internet / 3?@?

3. Interactive smart board / Sexfded e drs

4. Language Lab / SICSANE]

Correct Answer :-

o Internet/ 33?313

11) Which memory is connected with episodes and events? / WG 3R gedT1ei & 91y

o9 W Wfa oSt gt &2

1. Long-term / Eﬁ“ﬂﬁfﬁ

2. Episodic / UTH e Wi (TOHIfe®)
3. Semantic / Y (A (FTHCH)

4. Short-term / 3{eUTalY

Correct Answer :-

. Episodic / U Hfd (TS h)

12) The type of personality called ‘Asthenic’ was introduced by / Rf e AHe Afea
forad gRT yRgd fosar mar

1. Freud / 1S
2. Sheldon / él@q



3. Kretschmer / ShRIHY
4. Jung / g

Correct Answer :-

« Kretschmer / PRTHER

13) The 3 primary laws of Thorndike’s theory are: / ?Ir=f3r§$ & Rysia & 3 wrufore

1. law of readiness, law of exercise, law of effect / TR B FTH, 31 BT (HUH, YUTI BT
g

2. law of intensity, law of analogy, law of assimilation / GIEGIE ﬁtm, <Y D] ﬁ?m,
STHATABRUT DT FTH

3. law of action, law of experience, law of result / B BT a4, 3Hd P fgq, gfvomg &1
[BRE]

4. law of use, law of practice, law of disuse / NI BT W, SR &1 47T, ST &1 ™

Correct Answer :-

« law of readiness, law of exercise, law of effect / AT BT (HIH, I BT HTH, THIG BT

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / e b ioe

qdTad gaed (wHTHdag-2) § A §:
1. Above 400 items / 400 3T3cH ¥ 3H{UdH

2. Above 500 items / 500 3TSCH ¥ 3{feidh

3. Below 500 items / 500 3TS¢H 4 HH

4. Below 300 items / 300 3cH I HH

Correct Answer :-

« Above 500 items / 500 3‘”3?5[@ 3fem

15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable

actions that first occurred by chance? / TS #t %ﬁm TMMHD AdRT (-\qaiﬁ
Ui srawT) &1 b IUSaUT A 9= 3Hcera® STl Bl algTd § ot
Ugd! IR I 9 §¢ A2

1. Primary circular reactions / PIKjtare qf‘ﬂ-q &W



2. Secondary circular reactions / T1T0T Q?ﬂ_q WTQ
3. Use of reflexes / Sl ﬁ?—q[\?fh CARRIL]

4. Mental combinations / IIFIﬁW @W

Correct Answer :-

« Primary circular reactions / WW qf‘ﬁ-q &w

16) What have the children developed when they are aware of their own mental processes? /

aﬁg@ﬁwﬁwﬁamﬁ?wwmwmﬁﬁm
gId 8?2

1. Metalinguistic abilities / &fﬁlﬁﬁﬂ'aﬁ &-I'H?ITQ 113IEI|3°I161||@35 Qa”aél)

2. Metacognition / \Hfmﬁ @W:ﬂm
3. Meta-awareness / STISTRE Al (HET-3ATRAY)

4. Metamorphosis / TATIRUT (HETHI RIN)

Correct Answer :-

+ Metacognition / 3TIGRIH (ﬁ?@ﬂﬁm

17) What is the smallest unit in the writing system?/ G yuITelt # g9 Sidt ':{aﬂg T
82

1. Nouns / 3T

2. Verbs / fopan

3. Phonemes / WH (qﬁﬁtl)
4, Graphemes / gfofe (‘;lTaP_’:FD

Correct Answer :-

« Graphemes / gfofm (‘/'I'I'av_lf\‘:l‘)

18) What cognitive principle does a child possess when she understands that the amount of

clay in a 2cm ball remains the same whether the ball is flattened or made into a stick? / T

T B AT GIHTHSP Rgid U B ddT 8, 59 98 59 9HeH § J&H
giar g P 2 At arat v T § ) (@) o A g el @ 918 e B
IucT fHaT 9T U1 39 TS & U H ST STe?



1. Conservation / G &0
2. Volume / T
3. Hypothesis / UR&b T

4. Trreversibility / STThHUIIT

Correct Answer :-

o Conservation / W&‘WT

19) What are the characteristics of scientific inquiry?/ aﬁTﬁﬁ? S @Y ﬁﬁw‘é T Ea_vﬂ

&

1. All of the above/ SURTaT TH

2. Learner engages in scientifically oriented questions only./ fRref ?ﬁaﬂm =0 Y 5hdd 3HYd
Ui B e gId 5 |

3. Learner gives priority to evidence only. / Rremff Haa Teg o1 urufiiear %I

4. Learner formulates explanation from evidence only./ ﬁT&‘ﬂ Zﬁ%ﬁ q1&d ﬁ W@WT aﬂﬂ
T B

Correct Answer :-

« All of the above/ JURIS 4

20) Children who come from homes with good parent- child relationships tend to be

et Y & TRl 3R Y T iy ST EYen § A T B
1. Intolerant of others /m & ufd W%—wl
2. Impulsive / 3Tt @W@lﬂ)

EN .
3. Posses weak intellectual control / GDJ-I\ﬂ-\N dquacb =0T Ut

4. Successful in social participation / qrEToie HRTGR! # 9% d

Correct Answer :-

« Successful in social participation / IS HITGRT # 9% d

21) Kohler’s insightful learning proved that learningis ./ W 33 GI?R-_;@
3T A Ry 3 6 aiftrma gl

1. an autonomous random activity / P <44 CII‘E%Q” Tlﬁnéﬁ[




2. an event of trial an error / YJd 3R _ar% Pt U Y-l

3. a new perception of the total situation / quf fufq ot Udh H‘s‘; @lﬂﬂ-ﬂ%
4. a connection between stimulus and response / R SEI th ufafehar & a9 Udh oY

Correct Answer :-

« anew perception of the total situation / ﬂ-qpf f@ﬁ aﬁ Udh Ts‘ &rﬁﬂﬁ

22) Vygotsky places considerably more emphasis on factors contributing to

cognitive development./ CIENIG k| W R dgd 3t SR fear g =it
dgTee ey dRea s €10

1. Personal / SfadiTd

2. Social / FTHTfSTh

3. Emotional/ HIdTHP
4. Cognitive/ GIHTHD

Correct Answer :-

« Social / GTHTSIR

23) According to Piaget, what method of processing information helps in the creation of

schemas?/mﬁa?w, Wmaﬁ?ﬁ?—@ﬁﬁsﬁﬁ!ﬂw
P & fomfor & weg Hedl 82

1. Questioning / YO AT (Hé‘-lTﬁ?T
2. Motivation / 3{THUR O (]:m%a_-‘ﬂq’)
3. Deliberation/ﬁ?ﬂq ﬁtﬁﬁ ( 3|3I|3§52I:I>

4. Accommodation / THGIT (THIHIS L)

Correct Answer :-

. Accommodation / HS (THIHIST)

24) Maslow’s five-stage model is in the shape of a / ATl & Uid-3aRIT Hisd TH
& AMPRABI

1. Pyramid / fORTf&rS
2. Square / it



3. Rectangle / 3H1d
4. Circle / dd

Correct Answer :-

« Pyramid | ToRTfere

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be attributed

to his: / 3ifpd THem A T HYaT 7 3R U= SifawH spa A A% d gl STl
21 3P oY IHP 3H HRUT D! RAITR 38 AT 1 Pl 8:

1. Lack of parental involvement /ql?ﬂ-ﬁ?ﬂ %ﬂ%’lﬁﬁ?ﬂ [ HHId
2. Poor reading comprehension JHG U3 P TYRT

3. Lack of self-esteem / S{TH-HHTT $°r Wff

4. Dependence on others / m U3 ﬁﬁ??ﬂ

Correct Answer :-

« Dependence on others / gﬂi[ R AudRar

26) According to the theory, men and women are different and unchangeable due to

their intrinsic differences between the sexes. /_ﬁl?x'ﬁa? SR, W Gﬁ?'q'[%?ﬂ\?ﬁ
& foiii & i sriafve siar & SR ST 3R Srafvad-ta g

1. Social constructionism / JTHTRT® fHATUETE (A=A DHECARIH)

o O

2. Intersectionality / SARIIHTITT (SRAFRHIAT)
3. Gender Essentialism /1%411 3ifrartar

4. Gender performativity / foim QaQi:i

Correct Answer :-

o Gender Essentialism /%"T e«rﬁa'rdm

27) The learning style that is greatly associated with activity is: / fafafy & Ty dgd PS

Hha= &1 At 3:

1. Visual / €Y

2. Verbal / AR

3. Kinesthetic / PT3TRICH

4, Auditory / 44Ul



Correct Answer :-

e Kinesthetic/ WW

28) Which of the following is not true about constructive teaching approaches? / m

A B TP RI&07 TRH0 & IR ° I 8 32

1. It allows the teacher to focus on important and relevant information. / ?IE! ﬁT&‘Eﬁ ﬁ W G?R-
TG SR TR & Higd B Bl Srgwf TR

2. Students learn to value the opinions of each other. / €912 U QH\Q $ Hd ﬁ Hedd a"ll
P gl

3. It helps to customize the curriculum to each student. / & H(’:IOI? ST Ga i H &l
& & TR § H Aeg draT g |

N .
4, Discussions on the thoughts and ideas of a student are used. / L €914 % dld Gﬁ? fq EIR'I a2

T} BT ST fhaT ST 5 |

Correct Answer :-

« It helps to customize the curriculum to each student. / g HCEIGD 914 ﬁ UlodmH ﬁ
S & IR §9H # Heg dral gl

29) Erikson, a follower of Freud’s synthesized both Freud’s and his own theories to create
stages of human development, which span from birth to death. / TPTdS &

ATl TR 1, Was 3R 39 W & fgidl of AFd fae™ &
a1} Bl T & fore Axaifvd far, o 51 ¥ gy 9@ gt 21

1. Ethological / EVISISEDS]

2. Epistemological / I
3. Psychosocial / TN
4. Conventional/ UXHIR[Td

Correct Answer :-

 Psychosocial / THNEING

30) children should start developing cognitive abilities before they can experience / I B
BT ATHT P P § Ugd, IS sl & feRia $1 g a2
LRSI

1. Fear / &X



2. Embarrassment / W
3. Anger / [&1
4. Disgust / YUl

Correct Answer :-

o Embarrassment / W

Topic:- General Hindi (L1GH)

1) ia, orfia, B G 82
MR id favg 3t afeit
aTad Tl W €,

fa saeT B A BT
SUdl § $B Hedl ol ¢
¢ W TP 19 Hi,
"3d wR afe gt faer,
3T YagR & U BT

# oft 51 3t 1fte gET@rn”
- 8 et s,
UTed g& @31 d¢ W 2|
ifra, enfid, $1H v 32
3T Y I T ST W
<t @ie W o It

T par g @id §

P! 93 IS § Aelt |
AT YD o fpor axieht
Fot 3T i § B
forg, Yot & Ma IASHR
TE STd 8 § q1|
ST 78T Y BT TR I H,
AT T YD BT W B
ifia, erfi, B9 R B2
<1 0eft € e, U o



gl ¥R SHD! IUT Y
W ¥ 951 Wi a3
TNY-aRY St < @t
oTaT § fsuse g 3,
'gs 9 I & $ Wa
faeEr, of a7 & et 21
9% a1, W et o |
Td 38T §HST 3 B
M4, 3rfla, FH = 82
IUed U Bl USHR AR YD WF aTd U= T IR Id13|
TY: ‘IS g BT AT 34 §2
1. TTH A B 6!

2. MaR & Jucl

3. SUTTTS §% a1

4. fHARI 9

Correct Answer :-

. RIS

2) i, arfia, B ez 22
MR Md fave o1 afe-it
ATa Fgedt STl g,

fea goraT B A Y
SUel A $O Hodl ol g
¢ W U J[lld A,
"3d TR gfe g faura,
3T YAgR & U BT

# off 1 Y 1fte gET|rn”
- g8 e I,
UTed Y& W31 d¢ W 2l
wfiq, erftd, B G 22
3T P I T ST W
it @id W ST &l

UE ar A @id o



P! 93 IS § Al
AT Y& o fhRor aedt
Ft 3T ol § B
fg, gt & 1ia IugHR
T 9ITd Fg | 91|
ST YET b T TR I H,
AT 7 B BT W 2
M4, 3rfla, $H Yz 82
3 O+t € e, T e
gl TR SHD! YT Y
W ¥ gl Wig a2
TN-aRY @St A @t
o § fSus gt 8,
'gs 9 i A HS Wa B
faeT, o 7 A T
9% T, W fdt v a
T Y61 3P 3R 8
ifa, orfid, $19 Fraw 82
Ied U $I UgH A YD WF a1 U= BT IR Id18|
TY: 3T UASR & U1 1 & o1 Y fia gArar ¢ frast snawien 272
1. &l B

2. b Dt

3. el1d Bt

4. D1 B

Correct Answer :-

3) i, orfia, ®19 Yaz 22
MR 1id favg Ft afe-it
Fat TEed Al B,

fee ga@T HR A4 B

SUdl |/ $B Hedt ol 2|



¢ W TP AT el
"3d TR afe gt faur,
30 YasR & Ul BT

# oft 51 1 W g
- 9% 38 i,
UTed J&b @31 d¢ R 8l
ifra, onftd, H19 v 32
3T [P I T 1A WR
Wi @i TR B et

U e A @id o

@ 33 32 & I
AT YD oI fH o7 axieht
Jel 307 yvf & BB
firg, It & Ma IASHR
TE STd g # q1|
IS 76T P T &R I F,
AT T B BT R
ifta, srfla, 19 Yoz 82
<t it € Tl o o
TEAT TR SHD! 7T Y
W g5l Eig A gl
- @S i
a1 3§ f5use g 8,
'gs 1 7l & Bt Ha B
faeMT, of 7= & R 1
9% al, W fdt o d
Ed 361 SHST SR 2
ifia, orfid, $19 Fraw 82
ST U $ UgHR A2 IR A AT Y= $T Sk ga1sy|
WY: TTaT Y[b o fpvor axic gt 3T uvf | Bev sueT way fFad 82
1. THd HBg b U A
2. Ui Jare ¥



3. Yb-YH! & YA qui 9
4. Tt O =1Et

Correct Answer :-

. YH-YH & I U Y
4) g, anfia, B9 YR 22
MR Ma favg ot afe=ht
et FBdt e B,

fa saret B o BT
SUdl § $B Hedt ol ¢
¢ W TP Y19 Hi,
"3d TR afe gt faer,
3T AR & Ul BT

# oft 51 1 1fte gET@rn”
M- 9% ¥ e,
UTed g& @31 d¢ W gl
ifia, enfid, $1H v 32
3T P I T ST W
<t @id W o It

TE par ia @id §

P! 93 IS § Al

T YD o fhor axieht
Fot 3T ol § B
forg, It & Ma IAgHR
TE STd 8 § q1|

IS 76T P T &R 3§,
BT T YIB! T W B
ifia, enfi, B R B2
<l oeft € e, U o
TEAT TR SHD! 7T Y
W ¥ gl dig a3l
TNY-aRY St i @t



o1 # foueR gt &,

'gs 7 71 B H Y Ha &

faemT, of 79 & TR 1

98 TaT, W fsft o |

Td 38T SHST 3R 3

ifa, enfid, $19 Faw 82

ST UL $I UgH 1 TR WA 9T YA BT IR Ja1s¢l
wy: Wi 3rfia’ &1 Fsta uTa 1 32

1. I9Yard ofiT

2. 39 Had ga Ui # 50 3e died & TeR &1 T8 g |
3. 3 had HER 3R ST ya13i B g 8|

4, HIA A4 B G [ &b A I B TS §

Correct Answer :-

. IuYad ol

5) i, srfia, @9 Yoz 22
MR 4 favg @t afet
FTat Tl Al B,

fee ga@T B A B
SUdl |/ $B Hedt ol 2|
¢ W TP AT el
"3d TR afe gt faerar,
3U a3k & Ju1 BT

# oft 51 1 e g
- e 61 FE,
UTed Y& W31 d¢ R 2l
M4, 3rfla, $H Yz 82
3T P I T ST W
it @i TR B &t

U ar A @id o

@ 33 32 & I

Tl YD o fH o7 axieht
Ft 3FT ol § TR



forg, Yot & Ma IAgHR
TE STd 8 # g1 |
IS 76T P T &R I F,
AT T+ B BT R 8
ifra, enfid, $1H v 32
3 0 € ugl, T o
TEAT TR SHD! 7T Y
W | g5l Eia A gl
TR =) i
1T § 5T g 8,
'gs 1 7l & H Y Ha &
faemT, of 7= & R
qg T, W fedft
B TET THPT 3ieR &
ifia, enfid, $19 Fraw 82
STT Ui P UgHR 1Y YR SH T U= P Sk qarse|
wy: T} frad a1d P gU Sg WE 82
1. faurar ¥

RINICES)

3. YH-YH1 A

4. fpIRI &

Correct Answer :-

. R

6) M, erfid, B Yoz 82
MR 4 favg #t afeit
Fadt Tgdt St 3,

f&e goT B A7 B
SUdl § $B Hedt ol ¢
9 W TP 19 Hie,
"ad W afe gt faura,
3T YagR & Ul BT



# oft 51 1 1fte gET|rn”
M- 8 o1 s,
UTed J& @31 d¢ W 2|
ifia, enfid, $1H v 32
3T Y I T ST W
<t @ie W o It

T par g @id §

P! 93 IS § Al
AT YD o fpor axieht
Fot 3T ol § B
forg, Yot & Ma IAgHR
TE STd g § q1|
IS 76T P T &R I F,
AT T YD HT W B
1, enfid, B Yz 22
<l 0t € 7el, U o
gl TR IAD! T B
W | gl dig a3l
- @S i
T # f5ues gt B,
'gs 9wt & I Wa
faeET, o 7= 8§ R 2
98 T, R feet
T 8T SHPT 3R 3
ifia, enfia, B gee 82
ST U F UgHR AR IR T ard U= $T Sk ga1s¢|
TY: Id FHART HIGHT 5181 WX TIS di1d d qIER ATel ¢ df 36 FT $5d 82
1. Feiy

2. 7

3. BEMI

4, DAl

Correct Answer :-



7) 4, erfid, B ez 22
MR i favg 3t afet
Fadt Fgdt St 3,

f&e goT B A7 B
SUdl |/ $B Hedt ol ¢
e W TP 19 Hia,
"3d TR afe g9t faur,
3T AR & U BT

# oft 51 3t 1fta gET@rn”
- 9% 38 ek,
UTed 4o Tl d¢ W ¢l
ifia, enftd, H1H v 32
3T P I T ST W
it @i TR B et

UG par A @id o

@ ¥3 32 & I
AT YD o fb o7 axieht
Fel 37 yvf | BB
firg, It & Ma IASHR
g STd 8 # q1|
IS 76T P T &R I 4,
AT 7 Y@ BT W 2
4, enfid, $19 v 32
3 O+t € e, T e
UEAT TR SHD! 7T Y
W | g5l Eig A gl
TR =) iy
1T § 5T g 8,
'gs 1 7l & H Y Ha B
faemT, °f 7= & R



9% al, R fedt o d

B T8 THPT 3ieR &

ifia, enfia, B g 82

STT YR F UgHR A1E YR oH ard U= $T Sk qarge|
TY: WId Py UG 3R &1 3Gt ¢ f S FIT Hgd 82

1. Wit

2. il

3. 9T

4. 3fifta

Correct Answer :-

8) a, 3nfia, #1 Y 82
MR e favg Ft afe-ht
Fradt ggdt ot 3,

foa st B o B
SUdl § $B Hedt ol 2|
e W TP 19 Hi,
"ad W afe gt faura,
3T YagR & U BT

# oft 51 3t 1fte G|
- 9% 38 ek,
UTed g Tl d¢ W ¢l
ifia, enfid, $1H v 32
3T P I T ST W
it @i TR B &t

U ar A @id o

@ 33 32 ¢ A
AT YD o fhor axieht
Fot 3T ol § B
forg, Yot & Ma IASHR
TE STd 8 § q1|
IS 76T P T &R I F,



AT B B BT W B

ifia, erfi, B R B2

<t Wi € el, U o

gl TR IAD! T B

W | gl dig a3l

- TS i

T # f5ues gt B,
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Correct Answer :-

o ATR S

Topic:- General English(L2GE)



1) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “"Today’s
children are tomorrow'’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

Which are the branches of study that have helped him to have a comfortable life?

1. Electronics
2. Medicine and science
3. Architecture

4. Biology

Correct Answer :-

e Medicine and science

2) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

Which is the first symptom of the harm that smoking does?



1. Chest burning
2. Chest congestion
3. Breathlessness

4. Death

Correct Answer :-

¢ Chest burning

3) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “"Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

What deadly habits has man become a slave to?
1. Drugs and smoking

2. War mongering

3. Drugs only

4. Smoking only

Correct Answer :-

¢ Drugs and smoking

4) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.



Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “"Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

How can one say that man has reached great heights?

1. Because he can talk.
2. Because he has invented many things.
3. Because he has evolved fully.

4. Because he is the most intelligent of all animals.

Correct Answer :-

» Because he has invented many things.

5) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!"

'And how do men keep women sweet?'
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.



How old was the poet when she wore pigtails?
1. 15 years
2. 16 years
3. 13 years

4. 12 years

Correct Answer :-

® 6 years

6) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!'

'And how do men keep women sweet?'
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

Why did the poet need to learn cooking, according to her mother?

1. To set up a class for cookery.
2. To be able to cook when she stayed herself.

3. To satisfy her future husband.



4. To satisfy her parents.

Correct Answer :-

 To satisfy her future husband.

7) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!'

'And how do men keep women sweet?'
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

Why did the poet's mother flick the duster?

1. To teach her how to dust.
2. To urge her to dust her room.
3. To urge her to dust the house.

4. To wake her up.

Correct Answer :-

» To urge her to dust her room.



Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!"

'And how do men keep women sweet?’
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

What reason did the mother have, for asking her daughter not to write poetry?

1. It would make her sleepy.
2. It would make her lazy.
3. It would not let her buy butter.

4. It would not give her a livelihood.

Correct Answer :-

It would not give her a livelihood.

9) Which of the following options best combines the following sentences?
I will win the scholarship. That is certain.

1. I should win the scholarship that is certain.

2. It is certain that | will win the scholarship.

3. I will win the scholarship; so certain | am.



4. | will win the scholarship so | am certain.

Correct Answer :-
o ltis certain that | will win the scholarship.

10) Read the sentence carefully and choose the option that has an error in it:

He drank once again as he was feeling very thirsty.
1. very thirsty.

2. No error

3. He drank once again

4. as he was feeling

Correct Answer :-
e No error

11) Read the sentence carefully and choose the option that has an error in it:

When the topic of absenteeism was rised, she had a scornful look on her face.
1. When the topic of absenteeism

2. on her face.

3. she had a scornful look

4. was rised,

Correct Answer :-

e was rised,

12) Fill in the blank with the correct option in the given sentence:
Some of the parents talk in parent-teacher meetings.

1. sensible

2. sensibly

3. sensation

4, sensitive

Correct Answer :-



» sensibly

13) Choose the right tag:

)

We are dining out today,
1. are we

2. aren't we

3. can we

4. don't we

Correct Answer :-

e aren't we

14) Fillin the blank with the most appropriate preposition in the given sentence.
The store employees do a lot of work most of the customers.

1. to

2. from

3. of

4, for

Correct Answer :-

o for

15) Fill in the blank with the correct option in the given sentence:

That which cools is referred to as a cool--.
1. --er

2. —-ent

3. --ant

4, --ing

Correct Answer :-

16) Fill in the blank with the correct option in the given sentence:



A --vention is the coming together of a large number of people.
1. pre--

2. inter--

3.in--

4. con--

Correct Answer :-

e Con--

17) Choose the most appropriate determiner in the given sentence.

I think express train is running late. It was to arrive at 9’0 clock.
l.a

2. the

3. no determiner

4, an

Correct Answer :-
o the

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Her pain was aggravated by his words of consolation.
1. erased

2. alleviated

3. escalated

4. compounded

Correct Answer :-

¢ alleviated

19) Choose the appropriate prepositions for the given sentence:

The files are the alphabetical order, so don't meddle them.



1. in, with
2. from, in
3. by, through

4. into, around

Correct Answer :-

 in, with

20) Choose the appropriate synonym for the highlighted word in the given sentence.

The company’s decision to close down its branch office is an irrevocable step.
1. changeable
2. temporary
3. unalterable

4. irreplaceable

Correct Answer :-
e unalterable

21) Choose the appropriate pronouns for the given sentence.

The family are to be blamed for misfortunes.
1. their, themselves

2. themselves, their

3. himself, his

4. ourselves, our

Correct Answer :-
¢ themselves, their

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Only one day was taken by him to pick up skills in skiing.
1. He took only one day to pick up skills in skiing.

2. He was taking one day to pick up skills in skiing.



3. He was taken one day to pick up skills in skiing.

4. He has taken only one day to pick up skills in skiing.

Correct Answer :-
* He took only one day to pick up skills in skiing.

23) Choose the appropriate option that fills in the given sentence correctly:

He will not be taken back he apologizes to the other players.
1. in order that

2. unless

3. although

4, because

Correct Answer :-

e unless

24) Choose the appropriate tense to fill in the blank in the given sentence
Most children by the age of three.

1. learns speaking

2. are learning to speaking

3. learn to speak

4. learned to have spoken

Correct Answer :-

* learn to speak

25) Choose appropriate articles for the given sentence:

Applicants should prepare for role-playing, which is __ essential part of __ interview
process.

1. a, no article required
2. an, no article required
3.an, an

4. no article required, the



Correct Answer :-

26) Choose an appropriate modal for the given sentence:

In order to gain respect, we be respectful to others.
1. must
2. might
3. could

4. can

Correct Answer :-
e could

27) Choose the option that substitutes the given phrase appropriately.

A mixture of metals
1. Fusion

2. Admixture

3. Amalgamation

4. Alloy

Correct Answer :-

28) Choose the option that best transforms the sentence into its Indirect form:

My uncle said, ‘We have moved into our new flat. We don't like it nearly as much as our last one.’

1. My uncle had said that they were moving into their new flat but that they don't like it nearly as much as
our last one.

2. My uncle said if they have moved into their new flat and that they didn’t like it nearly as much as their
last one.

3. My uncle said that we had moved into our new flat but that they didn’t like it nearly as much as their
last one.



4. My uncle said that they had moved into their new flat but they didn’t like it nearly as much as their last
one.

Correct Answer :-

* My uncle said that they had moved into their new flat but they didn’t like it nearly as much as their last
one.

29) Choose the option that best explains the highlighted expression:

'Why've you got such a long face?'
'My boyfriend doesn't want to see me anymore.'

1. look bored
2. look sad
3. look anxious

4. look excited

Correct Answer :-
e |ook sad

30) Change the given statement to indirect speech.
The teacher said, “"The planets revolve around the sun.”
1. The teacher said that the planets revolved around the sun.
2. The teacher said that the planets revolves around the sun.
3. The teacher said that the planets revolve around the sun.

4. The teacher said that the planet is revolving around the sun.

Correct Answer :-

» The teacher said that the planets revolve around the sun.

Topic:- HINDI (HIN)

1) i T T STedt e HiadT @ 98 ST 8 Siec -
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2. g g
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4, AT 8



Correct Answer :-

. GREATR

2) T8 I Yo7 fRgror it gAfaT E -
1. IWRIad gt
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3. Had Uo ¥ T fdd gAfaar

4, HId G F G ATt
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o SWRIad gt
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. T o<
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3. U B4
4, HIdd B4

Correct Answer :-

. PUSATI BT
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1. TR} e fgac

2. UGHAT GATATd

3. SIOR[HR UG
4. IMYTRY Rig feas

Correct Answer :-

. YR g faqaR
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1. AP

2. 3T A B TE

3. 3FATE
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46) 'gI¥S, UHHC P [T S BT U &2
1. QH DI d

2. Tt gkl

3. P

4. 3G

Correct Answer :-

47) 3P YAD TR H 16 TTEATY et ¥ 1 3 & g 1LY 31mam| - SuRIad faivany i o< 31 32
1. IS B¢
2. TN auf B¢



3. AT B<
4, dIch &G

Correct Answer :-

. AU BT

;%;%ﬁaww-ww‘mawﬁw’aﬁ?’aﬁwawaﬁaﬁf’%m

1. MY
2. fagammy
3. QAR
4, TG

Correct Answer :-

49) “TH YT WA T WRT | TG R TR HFe =T 11

ART 3R 98 YTl fibY | At 399 T 1 R 117 - 59 Ugell & da® &I 9 oid 82
1. HER

2. faemufa

3. 3R GI@I
4, TRGTY

Correct Answer :-
. SHRGWR
50) 'UgWUl $t TR fore goft &1 FAdy g2
1. Qe
2. 3YH
3. GO U
4. AT

Correct Answer :-

o JHITUYIT



51) gl & T fea-t Al STl 82
1. ST
2. IR

3, WA
4, foro=

Correct Answer :-

U Y S arelt Afaa 21 oftae & fafay T<af ot IvA Rga SRAT A FTHFH

4. Vsg dcd

Correct Answer :-
. HeOATAd
53) T3 afera ey o1 wwfta vd 9d9y sxamer f&a o1 A g2
1. faenf-ary fay
2. gdpia Burat fA=Tan
3. XroTT 39 o
4, STORHR YT
Correct Answer :-

. foefary fsy

54) fEdtar yrdt ST B ATqUTST B ST Riare & fore -
1. R g
2. AT B

3. gAY B
4. faRm 81

Correct Answer :-



55) Frufif@d ifeaal § S19-91 seeR 82
&1 R T & 3G 3§ ail,

$2 R HeRX & X WA 7

1. Y 3ABR

2. gHD 3APR

3. ¥UD 3ADR

4, UHT AAPR

Correct Answer :-

o JHD HADR

56) wwﬁ%ﬁﬁwwqﬁ%lmﬁwﬁmmw@ﬁﬁﬁé@nﬁ%lwmmwm
3R ISTERU1 §g-g¢ HX AHA AT, at 3yt fafea gY smewn i et g Suran #wa €, o foe g9 s
AT FIBTT 9 B IR 74 &, et e sRias wam & R 80 8sA® dvE & RS g S99 @8 Fd 8,
I FUGT HHMA | U1 9G] faara o1, 9 3511 $© 0 o1 fHe A e g« 50 vud 1 3ifie Jeaa=
Tugra &1 o @ & S &7 ILRY Had SUAT TeRAT 7, 3! UfasT HH g3 o | Uiz sawir & 37 fHt A gt
TP 81 IR o foraT, SuaT A/ 3R Wale &1 g 3t | fFedt A 5 9 781 f6 3 #19 A 3R wei T¢I 7rg
TuTer wardff 3rawy 3, W a8 W &) SUTHAT A1 A8l e 3§ S o 7, iR eram shtae &) siffa wwa
TG AW P ufvay fear 3

Sude TR B Ugd? 1 2T 7 uy &1 I« faf@e:
TR # ¢ & oAl @1 F4r I gl 82

1. 4 IRAID &I IHAT I ¢ |

2. I UTIST SR A8 ST H g1 38 ST

3. I UG BIe & |

4. 39% RS TN WA g |

Correct Answer :-

. 3! UfAET 3R =19 W17 § 7Y T8 Sl

57) 39 UOR # ¢ 31 99 $O 761 31 YT B TSN al 9gd HH TGl A gl oW TS ¢ | HAR BT 3fae™
IoTHR AT 3R ISTEVI ge-ge PR A I, df 3mus! fafed g1 wimem fr ot g0 Iura=n &vd €,
% I 30 oA ST faTT a9 @1 dUR TEd §, et Wfa aRiaren wam & e 39 sme @ & WIR$
g 9T WS B & ST FUAI HHMA A AU 9T e fyamar o, afer I oo W o fHy &
o wgT g vud [ e Yeuar Jugd €1 o @ & Siia &1 3ER9 $ad $UdT 9eRHT 7, P!
TiasT $U g3 21 SAfUeiwr sawt A 3% fhlt A go1 a9 7| IR o R, Tuan wumn ok Wals &
T &1 | faedt A o 99 78 % @ 19 A iR Tl eI urg g Wit srawy 8, wR a8 wrd Y Iurgen
AT TS AaT| 3 W 3 €Y U wire &, RreiA oA sftat &) siftfa wed v agsre &1 ufag e 21

ST TRwSE P UgH - 3T 1Y vy &1 I« fafee:




39 TN T S 2iide T g1 Jdr 82
1. Siiq &1 A
2. Y &I wEgl
3. 31T ST

4. Y D Agdl

Correct Answer :-

. Sligq B A

58) T YR H 7 € W $© &I 81 Y7 FY Y o 9gd HH e § St I 7 §1 WAR 1 R
IoTHR AT 3R ISTEVI ge-g¢ PR THA AT, dY 3muep! fafead @) wiren fr et g0 Sura=n #va €,
% 1T 30 oA ST faTe 99 @1 duR T8d €, e Wfa aRiaren vem & e 59 sMe @ & WIRS
g TTY @S BRA €, S YA HUM A AU 9 e} fyaman o, afew IR oo W o fPe A
o wger gW vud [ e Yeuar Jugd €1 o @ & Siia &1 3ER9 $ad $UdT 9eRHT 7, IAP!
wfamT $U g% 1 SAfeiwr srawt A 37 fhlt A go1 9o 7| 3R o R, 3uan wumn ok Wald @
e &1 fadt A o 9% 78 % 3 19 A 3R Pl eI wrEa g Wit 3wy 8, R a8 wrd Y SurgEn
BT 81 ATl 3 H 3 8§ o o1 &, gl o= sftaq ot siftfa #va 9wa agsa &1 ufvea fean 21

Sudad ufisdg B ugHR R T 1T vy #1 I« fifa:

URee & R 88 I S W 9T 99T &1 faar=n arfay 2
1. Sita= gador &

2. 300 HUH |

3. UfamT HHM H

4. IGTERUT go |

Correct Answer :-

. JUYHHHH

59) 39 HUR ¥ ¢ 31 W9 $O 761 31 U B TSN al 9gd HH STG! A il oW TS ¢ | HAR BT 3fe™
IoTHR AT 3R ISTEVT ge-ge PR TIHA AT, Y 3muan! fafed 81 wirem for ot g0 Iura=n &vd €,
o fore & SrA 3iTE ST 9 &1 dUR Yed €, RFa Wfa aRiaren vEq & fi g0 sMe ave & WR$
e ST WS BRA €, ITI TUUI HHM | T JHY e faran on, 9few IR $o 0 o P 3
o HgT g vud J ife Yeuar Jugd €1 o @ & Siia &1 3ER9 $ad $UdT 9eRHT 7, APt
TiasT $U g% 21 SAfeiwr sawt A 3% flt A go1 9o 7| IR o R, Tuan wumn ok Wald &
e &1 fredt A o 99 78 % 3 19 A iR Fel eI wrg g Wit srawy 8, W a8 wrd Y IurgEn
HAT G ST 3 B A §H gS o 8, R 3ram shiaq &t siffa wva wwa agsaw &1 uR=a fear g1

SUda URwSE P UgH - 3T 1T vy &1 I« fafae:
T BT g | T YT §2
1. Tt g7

2. I 1 THT HRATI

3. R JIT|



4. TTd & o Sita 3iftid =T

Correct Answer :-

o arff g

60) 39 TUR # ¢ g1 A9 $© eI 81 YT B TSNl il Igd HH STe! A gl oW TS ¢ | HAR T 3faerd
IBTHR AT 3N ISTETV ge-ge PR 9 W, af 3! fafed g wimewn fr RoFe g0 Suran o
% 1 30 oA ST fIsTT % @1 dUR TEd §, oMat e aRiaren vam & 1T 89 sMe @ & RS
e TR WS F §, I/ YT HHA A U1 JHY T8 faman u1, 9f@p 3211 7o ¥ o fee 9
o Her g Tud ¥ it Yeuar Jugd €1 o @ & Siia &1 3ER9 $ad $Udl 9eRAT 8, P!
wfasT 4 g3 21 Rei sawt A 37 el A w1 9w =8t 3= o R, $uan wuman ok wRele @t
T &1 | fEdt A 9 99 T8 % 3 P19 A iR Tl eI ure g W@t sraxy 8, R a8 w@rd it Iuraen
FAT TS STHar| 3 7 ) g o 7, el 3ruA shta &) siftfq #vd awa g o1 ufvay fear g1

ST uR=de FY ugHr 1 3 T vy &1 Ik fifae:
TR ¥ {59 YR & A7 B ToI gt 82

1. TS ¥R o8 §91E 1|

2. ForgiA T Bt g 1|

3. TG 310 STaH & AIS@ & g 3701 & |
4. fog17 ggudd 4= wwm|

Correct Answer :-

. T8I o Siige &Y Hgsra & forw srdur a6z |




